
Montering av Topplatta, antenn och vinklingsbart 
toppbeslag./ Installation of Top plate, antenna- 
and topfittings.

Montering av Topplatta, antenn- och topp-
beslag./ Installation of Top plate, antenna- and 
topfittings.

Ø5mm
x3

Ø5mm
x3

x2
M6x16

x2
M6x16

x3
M6x16

x3
M6x16M6x30

x4

Montering av Däcksfäste./
Installation of deckmounting.

För genomgående däcksfäste måste en metall-
ring plockas bort./
For mounting through the deck, a metalring 
has to be removed.

Montering av akterfäste./
Installation of mounting for stern.

o-ring

Ø5mm
x3

x3
M6x16

Gängtapp M6/
Tap M6

Gängtapp M6/
Tap M6

Gängtapp M6/
Tap M6

o-ring

x3
M6x16

Ø5mm
x3

Gängtapp M6/
Tap M6

Ø10mm
x1

antenn-
kabel/
antenna 
cable

antennkabel/
antenna cable

vinkeljustering/
angleadjustment

+/-10°
+/-20°

M8x40

x1

alt.

M10x25

x4

Ø10mm
x1

Ø10mm
x1

körnare/
centre 
punch

alt.

antennkabel/
antenna cable

antennkabel/
antenna cable

Passar de flesta radarfabrikaten på marknaden. Specialplatta finns till Furuno. Om ingen radar skulle passa kan nya fästhål borras i plattan.
Fit most radars on the market. Special plate for Furuno is available. If no radar fits, new fitting holes may be drilled in the plate.

Radar pole - Mounting instruction
Båtsystem AB, Traneredsvägen 112, 426 53 Västra Frölunda, Tel: 031-69 03 80, Fax: 031-690097, 
www.batsystem.se, info@batsystem.se

2017 10 18 1

Ø4mm
x1

x1

Ø4mm
x1

plåtskruv/
screw

x1

M6

AA



Ø5mm

Gängtapp M6/
Tap M6

M6x30

2


